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1. Karolina has 85 stickers stuck in her locker.

She gets given 23 stickers and sticks them in her locker.

How many stickers does Karolina have stuck in her locker now?

1. . . . . . . . . . . . . .
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2. Jiya buys an apple and a bag of crisps.

The apple costs 65 p

The bag of crisps costs 73 p

Work out the total cost of the apple and the crisps.

............. p which can also be written as £ ...............
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3. Sebastian has 85 washers.

He buys another packet of 64 washers.

How many washers does Sebastian have now?

3. . . . . . . . . . . . . .
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4. There are 95 students are already in the school hall.

Then a class of 32 students go into the school hall.

How many students are there in the school hall now?

4. . . . . . . . . . . . . .
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Answers

1. 108

2. 138 p and £1.38

3. 149

4. 127
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